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8,320% x 1,050kw x 12¥& = 104,832
- AlEea
113.8% x 380,000kw x 12 518,928
308 Zpz|CHA| 0| 66,504 51,504
12 J|EfREZ 66,504 51,504
O 2| &34 £A7|& 20 e = (Yo, g2
10,000,000% x 14 10,000
O 247t BiE2#H A2l FL0fH|E(TH2{:tCO2eq) 56,504
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£.EORE FUNY BHAMNY MR AY. 2 M| quy | DHS| 22
o Halistex{eld
28,000% x 1,341 = 37,548
o gosteaely
28,000 x 672 = 18,816
SR e e R
28,000¥ x 5= 140
Lslsia 22| 2 S Y| 1,180,621 | 1,122,247 58,374
206 A=H| 431,770 395,930 35,840
01 LEA=ZH| 125,646 120,046 5,600
O gatistea2|d 125,646
o JA’I=E 2R TR(18L/S)
37,000¥ x 58 x 12& = 2,220
o J|A7t=E Fel& FYU(18L/S)
99,000 x 2& x 12¥ = 2,376
o Z|HAMZ 72 17,000
- 5371005 &t
500,000 x 28| = 1,000
2R BRI 27| HE
3,000,000¥ x 12| = 3,000
- 2| SHUA| SHRRIAV| 47| FE (R EER, SET, HIOR)
3,750,0008 x 22| = 7,500
- MER(0IE, A3, £20|5)
500,000 x 571 = 2,500
Ho2 AT
1,000,000¥ x 38| = 3,000
o Al A5gH|(UV) 225 ¢ 4,550
- AtR[MUVZ(330W)
440,000 x 57 = 2,200
- ARL]HUVAI e 7((330W)
320,0008 x 57 = 1,600
- AUV MF gk
150,000 x 574 = 750
o A7|AZRY 14.500
- DUFZQ| 195
200,000¥ x 20 = 4,000
- AHOIS(CV)2l 4F
600,0008 x 5& = 3,000
- 02" 2EE3 AH7|(MPRO)
500,000 x 15& = 7,500
o ofeA 2y ALSA|0f dH| AHE 7Y 20,000
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O IAIQ  ARBIZ @TITIAY : LB (oA SYmE] OMRAIY  HsAH2lY 2 @2 MRy
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A of
- ASAH O YEHIIE(HZ2|EEL| 571a)
1,000,000¥ x 6714 = 6,000
- ASAH 01| A= (FHHE 2| 9F)
800,000¥ x 105 = 8,000
-9 U 2907
3,000,0009¥ x 2Cf = 6,000
o YL FEA L FALAA 7Y
2,500,000 x 204 = 5,000
o 2L S e|E Iz 7Y
500,000¥ x 23] = 1,000
o YL SH2 V1AM E +Y
500,000& x 23] = 1,000
o 274 Y HC|2E 547
250,000% x 43| = 1,000
o 2ZF&2|E }7|4 H|=(20kg) 7Y
90,000¥ x 50%& = 4,500
o 12} & 22} M| SteRH 7| AT
300,000 x 6Cf = 1,800
o REHEI2 2 ATAIY Y| 7Y
1,000,000 x 274 = 2,000
o A 7H0| ZAE 2M 7|E
200,000% x 2& = 400
o $2ZMS #0HZ ORPZE7| P
900,000 x 1Cf = 900
o £UHA FUHE MLSS 37| 79
3,400,000¥ x 1Cff = 3,400
o tHAREE FUUILEEsESHY|2)
4,000,000 x 14 = 4,000
o L AAAHZA|ZH|(TMS) AR ALDE 4l oFEH]| 13,000
232 2370)|
3,500,000¢ x 1742 = 3,500
- 29 23]
3,500,000¢ x 1702 = 3,500
TOC &47|7]
3,000,0004 x 172 = 3,000
PH 247|7|
1,500,000% x 1744 = 1,500
SS&£47|7|
1,500,000¥ x 1744 = 1,500
o ZUFRZ £UUAIE V2| 7Y
8,000,000& x 1& = 8,000
o ~EAAAIY E 225 5 7Y 19,000
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& of
A|K(53F)
950,000 x 123] = 11,400
A2F Y 2247|1(80F)
500,000¥ x 128 = 6,000
155(99.995%) AtA
400,000% x 43| = 1,600
02 ok 306,124| 275,884 30,240
O galietr=H2|d 306,124
o Y48 SIISUN(AY) 7
3,300¥ x 6,300kg x 12¢¥€ = 249,480
o g3 %E 7Y 22,560
7t At
220% x 2,000kg x 12€ x 2744 = 10,560
- Z{OIGAAMLIEE(12%)
4009 x 2,500kg x 12€ = 12,000
o QIHAHE PAC(ERA) 7+
260,000 x 5& x 4 = 5,200
o ASGE(ER2YY|) 7Y
3,000¥ x 15kg x 603 = 2,700
o V| O|ME SAH 7Y
3,300¥ x 60kg x 12 = 2,376
o J|R AL 7
4,600 x 40kg x 12€ = 2,208
o ALY &3 *E 7Y
1,800,000 x 12E = 21,600
214 AMeZ| DA 748,851| 726,317 22,534
05 LMFA|H| 748,851 726,317 22,534
O galiote=H2|d 748,851
o SH4RIMI| 28|
14,0009 x 28 x 365¢ = 143,080
o s14RIM7| SlEtxal U 2|
178,0009! x 34E x 254 = 151,300
o ot E 7|2 EX2(H|
430,000¢ x 20E x 12¢& = 103,200
o 7|AAEE RAIe[H|(ZE{HE, WEHl2S) 121,525
- RUWI(NR2E 160HP)
2,500,000 x 204 = 5,000
12[AMR| (HSYUES)
500,000¥ x 3504 = 17,500
MBS Z(HI|Z, RUAZ BY|E EUSHE 5)
625,0009 x 220 = 13,750
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A of
- 22APR| (BRI | =/ 71S)
500,000¥ x 22Cf = 11,000
42 dolsEE, YBZ(BABEEIIS)
500,000¥ x 22¢f = 11,000
L = e
375,000¢ x 21¢H = 7,875
RSN
625,000 x 100 = 6,250
B2 Al
1,800,000% x 374 = 5,400
- AAR| A3 F ZH|0[0] UY 2l0|H RA|&e|
4,750,000¥ x 1744 = 4,750
- ER AL MESAHRY S, SHABEY, @47)S)
7,500,0009 x 3714 = 22,500
- ARMAEZ
250,000¥ x 8744 = 2,000
M2 S(ULH LRHE 5) Y LFRZ
750,000 x 120 = 9,000
SABE(2YHI 125HP)
1,250,000 x 2Cf = 2,500
- SHAEZY ALEEHE 23 7A22Y|
3,000,000¥ x 1CH = 3,000
o MI|AEE RAEE(H,SATELE) 12,000
S oY Y DODE|Y
6,000,000 x 14| = 6,000
- MCCER
3,000,000 x 14| = 3,000
- AR HIAY F2 el
3,000,000¥ x 14 = 3,000
o ZZAYA| steRHI| /7| B4
6,000,000 x 1%| = 6,000
o 22U MR QLB B4
2,625,000¥ x 404 = 10,500
o 2223 Y| B4
780,000% x 10CH = 7,800
o Z{ZAYR| FA|&e|H| BRI £=/7], ABHAER])
3,000,000¥ x 3CH = 9,000
o 2122 99, 9 U B4
1,800,000 x 4CH = 7,200
o BTL GATE A|O{A| AR H4
1,000,000 x 24| = 2,000
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2, 2022, d3AMY , SAAY MHMEBEMY, S, MF| of 4H &
o TMS £ASFY oAl A 3| |22y
1,000,0009 x 5& = 5,000
o TMS 2OiA| 4 F2|2e|H|
300,000% x 6& = 1,800
o JIAHZQE PR 0|5 B4
3,750,0009 x 2¢f = 7,500
o HEA|0] Z2|A A RAI2](Power supply®l)
240,0009 x 2071 = 4,800
o W] F2 22|
2,400,000% x 14| = 2,400
o =% HOots RYAIY R2|Ha(H|
2,500,000% x 14| = 2,500
o LT AYAILE B
5,000,000¢ x 14} = 5,000
o BHSA QR RHEHIO QI fE S B
1,250,0009 x 4Cf = 5,000
o BtR4 Ho|dH| $37| |2 &2/
1,250,0009 x 2Cf = 2,500
o RYS 37ILE7| sllEn
5,000,000 x 2¢f = 10,000
o HiHHSHIT Q2| H4
3,500,000 x 20744 x 10% = 7,000
o £E7|= MCCEF R
5,000,000¢ x 14} = 5,000
o YEUSZ SAUAALYH| FA 22|
450,000¢ x 3ch = 1,350
o MEUHSZ SAAAIZH|(FOE) R/l
120,0009 x 6CH = 720
o MEM SR ZH| 22| HalY|
100,0009 x 34% = 3,400
o SAHZY 13,000
JIAANEE RA B
8,000,000% x 14| = 8,000
HIMEE RA B4
5,000,000¢ x 14] = 5,000
o Zte|M A5MH| R| 2|
125,0009 x 6074 = 7,500
o AYHZ FA2|H(RYE, AT HE 5)
3,000,0009 x 14| = 3,000
o AYHUZ AYE E[HE YA
1,500,0009 x 4744 = 6,000

o
o
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ZOREE, MY . SHAMY HMEMNY, S HS| of LA d
U47|S, RYS S BOIAE QAIBA(13%44)
4,000,000 x 14! = 4,000
=7|2 DYEE7| QA2
1,600,000 x 3Cf = 4,800
X2 A2 EHBEY U A (HH 3
1,800,000 x 10%| = 18,000
sheaala CCTV fx|zly
180,000% x 107 = 1,800
BH4x21Y TRlS RATIHI(ME, Yat2 2)
6,000,000& x 14l = 6,000
Btex2i3 B2lAE fAIEY)
6,000,000 x 14 x 2715 = 12,000
stex2ly 224 ARl
5,000,000& x 14 = 5,000
SH4xely 234 U WOl ZY| AT 3,016
0|27, ZHT|Z4717|
300,0009 x 33| = 900
QEH|(FLR)
1,7409 x 84 x 8H x 19 = 2,116
cfalatR2212(77,919m) U BABTH(3,053n) Y2AH
8,500,000¥ x 13| = 8,500
YT H2Y 18,660
SRR 7| 24|
2,000,000 x 32| = 6,000
WSBUSZ O|4E 28
120,000¥ x 10& = 1,200
L IPPIAIEE R
1,800,000% x 14 = 1,800
- HIIAEE |2
1,800,000 x 14! = 1,800
- ASERIAIAY QAT
1,200,000% x 14 = 1,200
Nea VLT
60,000 x 574 = 300
- A R
120,000¢ x 3744 = 360
- 2ZTL7 B
250,0009 x 2CH = 500
[y 24
250,0009 x 2CH = 500

5,000,000 x 14 = 5,000

o
o

of AF
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A of
Lol 42| 2 £ ZH| 892,391 868,618 23,773
206 A{=H| 263,954 250,354 13,600
01 YBRjZH| 129,786 125,786 4,000
O Hotstaez 2|3 129,786
o 7|A’I=8 *Ew FY(18L/3)
37,000¥ x 2E x 12¢€ = 888
o 7|A7tE& +2lA FU(18L/8)
99,000 x 18 x 12¢& = 1,188
o AIMEAE 37 U 2RE 7Y
750,000% x 23] = 1,500
o J|ANE 7Y 8,000
- 2RA[R] 2| 225
500,000¥ x 10%| = 5,000
- HEHS(AO|EEE, J32, £8|=0|E)
500,000€¥ x 57 = 2,500
HDIZ ADZE
500,000¥ x 13| = 500
o H7|AERY 33,700
- DUFAS 0F
220,000 x 10& = 2,200
- HAHEHESA MY
400,000¢ x 1074 = 4,000
- ENAYUSAET|(VCB)
14,000,000¥ x 10 = 14,000
7|Z21EH7|(ACB)
5,000,000% x 1Cf = 5,000
£ T9ICI A Y S B
8,500,000 x 1¢ff = 8,500
o AHEA0jdH| 2z + 17,000
- =94
3,500,000¥ x 1O = 3,500
- PLC 0|38} CPUFIE
10,000,000 x 10 = 10,000
- PLC SAI7LE
1,500,000% x 1Cf = 1,500
- PLCYE™7tE
1,000,000 x 2Cf = 2,000
o 2folH AS M| ARUT 29
440,000 x 247l = 10,560
o 274 Y BCITAZ 5O 7Y
250,000% x 33| = 750
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BORE. FUAY DUMY MEANY. S M| Auy | SRS | B2

o
o 22228 712 HI2(20kg) 7L
90,000 x 60X = 5,400
o £E7| 0015 HEf 7Y
500,000% x 4SET = 2,000
o MSUSZ HYHZT| MM 7Y
5,500,000% x 27§ = 11,000
o £UANE Al Y £2Z S 79
130,000€! x 60& = 7,800
o AUBEIRE TYCIASEET|)
4,000,000 x 14! = 4,000
o £AUAAZAIZB|(TMS)AL ADE U FEH| 26,000
222 237)7)
3,500,0009 x 2744 = 7,000
- 29 237)7)
3,500,0009 x 274 = 7,000
- TOC&37|7]
3,000,000¢ x 2742 = 6,000
- PH 2317
1,500,000 x 274 = 3,000
55 2%7)7|
1,500,0009 x 2744 = 3,000
02 <4ZH| 134,168 124,568 9,600
O gt 2|3 134,168
o Y48 SIS (UA) 7Y
3,300% x 2,000kg x 12¢¥ = 79,200
o g3 %E 7Y 13,248
It
220%¥ x 1,600kg x 12€ x 2744 = 8,448
- ZIOtHALMLIEE(12%)
400¥ x 1,000kg x 12¢& = 4,800
o QA AHHE PAC(17%) 7+
260,000¥ x 13E x 48 = 13,520
o ASE(Z2227)) 7Y
3,000¥ x 50kg x 603] = 9,000
o DIME £712 B2 A (EE) 7Y
4209 x 2,500kg x 12¢l = 12,600
o HSUSZ PHZHE THIATHTY
220¥ x 30,000kg = 6,600
214 £ HFA| WA 628,437 618,264 10,173
05 £MRAH| 628,437 618,264 10,173
O gotsteH 2|2 628,437
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A of
o StR|7H7| 2EH|
14,0009 x 12& x 365¢ = 61,320
o SIERIHY| I|7|E fIEHx2| & 2Pt
178,000% x 4& x 365Y = 259,880
o ot+EHE 7|2 & M2
430,000¢ x 10E x 12 = 51,600
o MI|AHEE RA el 37,000
ekt U RE{V|SE
2,000,000¥ x 10H = 20,000
MCCEH
500,000¥ x 108 = 5,000
CATE HIINY
1,000,000% x 8714 = 8,000
47 Fojut wg
2,000,0009 x 2742 = 4,000
o W& SLAIE(CCTV) 7A[22[H|
500,000% x 13714 = 6,500
o Az%} HE|A|AR RR|2E]H| 16,650
% = [0 PN Eat= oy
750,000 x 15H = 11,250
29 U S m
300,000¥ x 367 x 50% = 5,400
o Ol27| U RC|Z7| KA |R2H| 2,487
- QY
300,000 x 35| = 900
SECIERE
1,74090 x 60 x 8H x 19¥ = 1,587
o 2% U 234 Q22|
3,000,000¥ x 14| = 3,000
o A5t 2| 2H(29,197m) &= AHA
3,000,000 x 14| = 3,000
o HBESE £AZA FH| FX| 2|
300,000 x 4A&€ x 3& = 3,600
o MM 22 Y BT
65,0009 x 40& = 2,600
o TMS &2 =4 &H| f2H|
1,200,000¥ x 52 x 274 = 12,000
o 2[R L A2 E|HE &4
5,500,000¢¥ x 18| = 5,500
o MRAOID| FEAS(HH )
5,000,000% x 2744 x 28| = 20,000
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2. 200 E . 3HAMNY SAMY MBAY,. S MHMS| of 4
o UZAIMS R2|BAH|(ME, 222))
2,500,000¥ x 7704 x 20% = 3,500
o of2p7| B Ol KA/
5,500,000 x 2% x 30% = 3,300
o E2AME RABEIH|(EZ, FH429))
30,0009 x 200m = 6,000
o E7|ZL(A|Z) R Z2lH|
5,000,000 x 37H& x 20% = 3,000
o WHy| g2y
1,500,000 x 14l = 1,500
o AN RABY)
4,000,000 x 14 = 4,000
o H2I% U dSws ey
2,000,000% x 170 x 20% = 6,800
o LS RAITRlY 115,200
I O 7|EHA| S 2(RYS)
2,000,0009 x 974 = 18,000
QUHD o ¢z HD
5,000,000 x 8CH x 20% = 8,000
- RYUSHUS AL (M, 0N BAI214 5)
3,000,0009 x 16CH x 20% = 9,600
RYZHZ MH|(OIFHIS)
2,500,000 x 16CH x 20% = 8,000
- B A3H| (8102 24E] 5)
1,000,000¥ x 130 x 20% = 2,600
- MBUISZ MH|(YRUESTHE, 9| S)
1,500,000¥ x 50C x 20% = 15,000
=7\ DYSET| |
3,000,000 x 70 x 20% = 4,200
23} AR HH|(22AASYT], RS 5)
2,500,000% x 25CH x 20% = 12,500
47| A4
20,000,000 x 3CH x 20% = 12,000
EEINEE
5,000,000 x 3t x 20% = 3,000
L OlT7| U YRS (MR O] 5)
3,000,0009 x 13CH x 20% = 7,800
L ASME|(RIYN, 2EMH| )
17,500,000 x 2C x 20% = 7,000
24 A Bret AT E
1,000,000¥ x 150 x 20% = 3,000
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4,500

500,000 x 9CH
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£.EORE FUNY BHAMNY MR AY. 2 M| quy | DHS| 22
2,830,500 1,987,552 842,948
B (6)/ddtre-r2 2,830,500 1,987,552 842,948
25 2,830,500 1,987,552 842,948
g2 At ete 2,830,500 1,987,552 842,948
sy FEE FAlE 307,000 226,500 80,500
Al 28|12 FO] 307,000 226,500 80,500
AlEH| 307,000 226,500 80,500
O AYU=2 (UEY) ELSAH2.0km)
12,000,000 x 28| = 24,000
O wYUBIY AR 2 274a FESAt
5,000,0009 x 374 x 23] = 30,000
O 2AYZAZ (A LINE) E2EAH4.0km)
11,000,000 x 23| = 22,000
O 2t 2=2(A1 LINE) £ESAH3.1km)
9,750,000 x 22| = 19,500
O 2t &Z(B LINE) =3 AH2.2km)
10,000,000 x 28| = 20,000
O ZFHHZ(C LINE) 243 AHS5.3km)
21,000,000 x 13| = 21,000
O SABLY g8 2 17/ia 224t
5,000,000 x 42| = 20,000
O StE3ABLY MU UL LS B B
18,500,000 x 1714 = 18,500
O AIRAE LRI e B
12,000,000 x 14 = 12,000
O olYSAHLY S HUEHE SoSAL
30,000,000 x 1714 = 30,000
O olYSAHAELY SHUEHE Y= WASAt
15,000,000 x 1704 = 15,000
O IIAHRIS S8 WAL
35,000,000 x 1714 = 35,000
eoliote2 2| Hia2 ZH|SA
22,000,000% x 14} = 22,000
SYLE+HSH FAY ZM(FAHES55, 2,600n)
18,000,000 x 14! = 18,000
oSt 2 E 7| A 2] A2t 1,239,000 1,083,000 156,000
NELIEEE B 1,239,000 1,083,000 156,000
AlEH| 1,239,000| 1,083,000 156,000
AZAUA(3BA) S| A
360,000,000 x 14 = 360,000
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O ZZ MR SHE SUUE o 2204 —
48,000,000 x 14| = 48,000
O ZIZ M| YoiZ2{2| EEHHT Y B DK
20,000,000¢ x 14 = 20,000
O gollstex2|d dUotdFd L LrI-dsHI Y 160,000
o TH|(AYHHMEAM)
64,000,000¥ x 1Al = 64,000
o ST s
96,000,000¥ x 14| = 96,000
O HEY SYUHUY 43
24,000,000¢ x 1A = 24,000
O UlEsas Z2M|A HOfBHRCS) HX|FAt
70,000,000% x 14 = 70,000
O 7tAEZ22l5 T2 M|A H|O{BHRCS) 2| ZAt
70,000,000¥ x 1Al = 70,000
O WEEE=2 wibt7] WX
21,000,000¥ x 3¢if = 63,000
O &2 U SUAZ BYZ2 T DHBA
18,000,000¥ x 3744 = 54,000
O Aot357 eSA|Y H2|SAt
55,000,000 x 1A = 55,000
O 2|REHS RYUO|E HSUE WH|FA
9,000,000 x 4¢f = 36,000
O 22 UvA=4H| I wH
1,500,000 x 287Y = 42,000
O AI4= O|SHIZ W&
45,000,000 x 14| = 45,000
O SUS 514 LU YIS D3
46,000,000% x 14| = 46,000
O 0f214 BFHZ U H|2ws 2|
25,000,000¥ x 14l = 25,000
O stESAHLY 50| &8 HI X 3UE WX
19,000,000 x 1Al = 19,000
O MSUSE RUSHT B
27,000,000¥ x 1t = 27,000
O Y7|4 £212] O|SHIE wH
30,000,000¢ x 1Cf = 30,000
O 2|23 H522| O|SHIE WA
25,000,000¥ x 1¢ff = 25,000
O 7ILEZRE 224 & HI W
20,000,000¥ x 14| = 20,000
Lokstaz| 2| 122 S| 2| 262,000 154,000 108,000
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O F ALY FYAMZE @TIRALY | Holl(Heh) a2 AP @MFAY | Hatstax{2|Y 12E e @5 A|ZH|L L oH|
FE.OEOHSE. UMY GAMY MENY. S M| quy | SRS | B2
A of
401 Al&H|2 2Ol 262,000 154,000 108,000
01 AldH] 262,000 154,000 108,000
O 2tz & 7704 &L 3At
18,000,000¢ x 43| = 72,000
O A2 (F[YA|F) 2HIA
21,000,000¢ x 23| = 42,000
O gt 7|erItHEY
85,000,000 x 14l = 85,000
O gotr2 2|2 O|0|A|7HHA (DI S| 2Y) 63,000
o &H|
18,900,000¢! x 14| = 18,900
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25,000,000% x 2Ch = 50,000
O nEA2|Ald o 2h2H] MESAt
50,000,000 x 14 = 50,000
O 8t4 U BuialS L3 AHHE DX
5,500,000 x 4Cf = 22,000
O ZI|2 &37| S4E HaSAL
20,000,000 x 14! = 20,000
O g4V ST 8|
22,000,000% x 1Ch = 22,000
O &387| &g 4|
20,000,000 x 14 = 20,000
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O &37| g4=2 23
5,500,000 x 4Cf = 22,000

O O|Z23ABLY 0ld= 37| ASHisEE JHdSAt

21,000,000% x 14} = 21,000
O O|2EATIY SUsHS HEEHYNAY P2

30,000,000% x 14} = 30,000
O O|2SAHHILY LED WAISAL

10,000,000 x 14! = 10,000
O ste2ie|d S4lEH| 22lSAt

60,000,000 x 14! = 60,000
O BMAH =S HAT| 750KVAR| 12 WA SAt

50,000,000% x 14 = 50,000
O 2& =SHYAT| 250KVA WAISA

22,000,000% x 14} = 22,000
O SUE DYHL J|SH A

13,000,000 x 14! = 13,000
O LJ|Z Ut PACEUMY| JHM B AL

25,000,000 x 14! = 25,000

20,000,000% x 14| = 20,000
SR 2pRS
405 AHhbz|SH|
01 ZMIUSEZS
O £ATMSEH7 162,000
o A 2HI|7|
41,000,0009 x 1Cf = 41,000
o & =377
41,000,0009 x 1¢ff = 41,000
o TOC &47|7|
80,000,0009 x 1¢ff = 80,000




